. What is the scalar Projection of

a=j- 2/+k on h=45~4j+?£ 9

V6

(a) —
i
(h)

(c)

) non-zero vectors is equal to the
of the following js correct ?
(a) The vectors are parallel

(b) The vectors are perpendicular
(¢) The vectors are anti-paralle]

(d) The vectors must be unjt vectors

3. Contifien e > following equations. for
two vectors @ and b

L (m‘].(a"-‘a_ja

4, Consider the following "

. The magnitude of axB is same
“mmnflwmm

4 and b

then 4 =145

Which of the above statements is

correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor2 -

......



L .

6. The equati
. ’“muﬂ:x o = 0 reproscnty

{ﬂ] for all w ﬂl-!.n:lhm
a,

{b‘J 'D-I]]}I' when a%0

(t‘) ﬂn;}l' whmb %10

and
mﬂﬁ }'ﬁusﬂ—a?

(@) B-a

(b) n+8—qa '

(c) __f"ﬂf--f 2a)

{d} (ﬂ': -zﬁ * g 5}_
2

9, An equilateral risngle has one verjex
il {-- -I:l'uﬂmﬂﬁﬂ:“-

(-3, /3). The third vertex may yie

on

@ (2. 2)

® (V2. —+2)

(© (1,1

(dJ U £ "1}




12. A point on the | ine
'_r___-l_=f:_JJ_ z42
1 ~ 2
@) 3,5, 4)
() 1,1, %)

14, A straight line penses hraugh the poim
(1, 1, 1) makes an angle 60° with the
iﬂu direotion of saxis, and (he
m of the anglos made by it wity
the positive directions of the y-axis and
mgx-mnmiulhﬁnﬁn«ﬁ 1. What
is the mcute angle between the two
possible positions of the line?
() 907
(k) 60°
(c) 45°

(d) an®
15. If the points (x, ¥, —3), (2, 0, -1) and

.2, 3) lie mamgmﬂu?.-_ﬂ&uw

{'ﬂ-} | '-l-
) 1,1
(€) 0,2
(d)y 3,4 .

16. Luta.h. ﬂbbmﬁm@f MW al i




_ﬁ

(@) 21
by 22
(c) 24
(d) 25

Bit Numbers gre

19- 1 3d, 8th and 131h tems of a GP are
@ ¢*=pr
®) P=pg
© par=1

(@ 2 =pr s,

—

21. 1f ¥'°%:* > 7 where x > 0, then which

one of the following is comect 7

(a) x€(0, =)
() xE(l. '}')
T

© ~e(0, 3]uc=

(d) J-'E[%t m)

22. How many real roots does the equation

2+ 3|x| +2=0 have ?
(a) Zero

(b) Ome

() Two

(d) Four




24. Lot §= (2, 4,6, 8§, . e 20},
What is the rnn:llmm: number of
subsets does § have ?
(a) 10
(b) 20
(c) 512
(d) 1024
25. A binary number is represented by
(edecddeceddd),, where ¢ > 4. What is
its decimal equivalent ?
(a) 1848
(b) 2048
(c) 2842

(d) 2872

26.. Ifmsmﬂ*-— wﬁmﬂﬁﬁcﬂﬁ" ’ﬁim_



30. What i A1 the roots of
aa o O BT RRS Gttt
3
?
@ 2 3(al +£7) caual 10
3 =0
3 (a) 8
(b) S |
®) 6
3
© 3 © 4
1 (@ 2
(d) 3
| s 1o, 4 e o
31. Under which one of the followi and 40% play foofball " "0 OF
conditions wﬂlatil:!l: quadratic zquﬁm students play both (e gmes, nmﬁm mmm
nor football 7
(a) 2«@"51@1-‘{'3 (2) 10%
() V3sm?<4 ®) 15% _

(© 20%

d) 25%




35,“':—1-;1'_

then ;
x4 by o AL the valug of

(a}) Gi—3
(b} —6i+3
(€) —6i-3

(d) 6i+3

37. What is the value of

2+ 1

39, How many terms are there in the

i f
uxpmmuﬂﬂ
(1 +21+13}5+{'| +4}?+4ﬁ?

(a) 12
() 20
() 21
(@ 22
40, 1f the middle’term in the expansion of
5 +,1_'.T'.. miﬂ?&&’t.ﬂtmm is
the value of n ?
(a) 10
(c) 3




value of 59
(b) 85 real roots 7
(c) 80 (a) 12
(d) No such value of n exists (b) 10
43. Let AUB = 18
Jl'nrlnix—m:}fg_u;—.!n]:an;;u1 where a < b, (d) 6
What are 4 ang g
cqual 1o 7 47, What is the value of .
(ﬂ] AE{II_::_-H.]. lﬂﬂﬂ“{:lx:ﬂb} [—2+3—4+5—_-p..+1ﬂ1 i "
() 4= {x|x<a) and B= {x|x>4) (&) St ;
(¢) A= {x|x<a} and B= {xjx<b) () 22 >

(d) A= {x|x>a} and B= {xlx<b) ) 10




51.

(d) 2

If the roots of the equation
a(b —c)x* + ble—a)x +e(a—by=0

are equal, then which one of the
following is correct ? ' :

(a) a, b and c are in AP
(b) a, b and ¢ are in GP
(c) a, b and ¢ are in HP

(d) a, b and ¢ do not follow ‘any

regular pattern

(a) min
() nim
(c) m+ (nim)
(d) n -+ (niln)
ot o a4 e L SR T
what is the minimum number of
clements that (4UB) can have?
(a) 3
® 6
© 8
) 9




¥

57. What are the vilues of

€quation * that satigfy g,
2 2 3|3 92
T el
(1) -2++3
(b) 143
(c) -1++/6
(d) —2++6

S8.If x+a+b+c=0, then what is the
value of

x+a b e
a x+b e |9
a b x3e

(@ 0

(El- {ﬂ' +h+ c}z.

60, Let m and n(m<n) be the roots of
the equation x* — 16x + 39 =0, Efﬂm
terms p, g, r and s are inserted

m and » to form an AP, then what is (he
value of ptgq+rts?

(a) 29
(b) 30
{c) 32
(d) 35

. For the variables x and y, the two

regression lines are 6x+y=30 and
3x+ 2y =25, What are the values of
X%, yandr respectively 7

ZD 35

_ -._-_— sar .-5'.
(a) 5 0.5
30 35




63. T'lwmufﬂohwmh“ s
variance is 824. If three

of the five
ohservations are 1, 2 and 6, then what
are the other two observations 7
(a) 9 18
(b) 9,4
{c) Bl 16
(d) 81,4

-ll'aminintnamdﬁlll!wﬁmhnd
appears, then what will be the sample
space 7

@ (M @
) (TH)
(€) (T, HT, HHT, HHHT, ...}

[

(@)

—
e

(k)

l"' bl | =

(c)

—
Bt

2

(d) 3




; n[f-r:u:i t:nn hm i ?mlw;hu i
PMJ"P(B)-(].;' POssible gy (b) 50, 15
2 E:mdamﬂnrmp.wm (c) 55,10
Py~ thgniﬂ(ﬁhif}nl_ (d) 55,15

. Emcmsuofamafﬂmm““

Y—-ﬂ-ﬂ-l*al:thmwmmml wmmﬂ:
® 2 oty . the set of corresponding.
on ¥Y'?
(@) 25
(d) Neither 1 nor 2
(b) 40
70. If a fair die is rolled 4 times, then what
mm#wahahﬂtywmm xactly o) 25
.- (@ us
® 16 3 -
ii_'“- ez Jﬂ’ii ﬂ#’f' fithos anl 11 6 the mctn




e

74. A car travels first 60km at a speed

i

of 3v km/r and travels next 60 km at
2v km/hr, What is the average speed of
the car ?

(a) 2:5vkmhr

{(b) 2-dv km/hr

(c) 2:2vkm/hr

(d) 2:1vkm/hr

The mean weight of 150 students in a
certain class is 60 kg. The mean weight

of boys is 70kg and that of girls is

55 kg. What are the number of boys
and girls respectively in the class ?

(a) 75 and 75
{b) 50 and 100
(c) 70 and 80

(d) 100 and 50

77, Consider the followmg statements ©

1. f[g()] is a polynomial of degree3,
2. glg(x)] is a polynomial of degree.

Which of the above statements is/are

correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

78. If h(x) = 5f(x) = xg(x), then what is the

derivative of h(x)?
(a) —40

(b) —20

(c) —10

(d) 0




80. .
Whaunthzva]ueqf;”fﬂ

(a) 2x
(b) =

o
(c) &

@ o

-nﬂﬁiﬁ‘mﬁalqmﬂ“ hick .

sents the family of curves
tan y = ¢(1 — e¥) is

given by
(a) e tan ydx + (1 - e9)dy=0

(b) & tan ydx + (1 - e%seclydy =0
(€) e*(1-e"dx+ tanydy=0

() e tanydy+(1-e)dr=0

82. What is the derivative of 2005 with

respect to sinx ?
& sinx 2605 nd

(b) 2sinx ptein In4

o | -

(a)

(b)

P | =

() 1

@ 2

84. What is the area of the region enclosed

between the curve )?=2x and the
straight line y=x7

(a) % square units

) % square wnits




86. A coin is biased “"“‘“Mu: #9. Arithmetic mean of 10 observations jg
up thrice asg likely as taj

. r 1 ’
luFm-ﬂm“ 60 and sum of squares o ""."E"'““,-I
mdr.pmdml tosses of a from 50 is 5000. Whal I um?

Most twe devistion of e e0sorVRES

(a) 20
(@) 016 :

= () 21
- S
(b) 048 @ 5 s

(c) 058 @ 2490
(d) 098 e
and g are the roots ¢ equation
2 :pr Eﬂxiﬂl 0, what is the value of
87. A bag contains 20 books out of which P
5 are defective. If 3 of the books are e
selected at random and removed from (&) 7010
the bag in succession ‘Fﬂﬂ!ﬁuut l'eplm :
ment, then what is the pra (by 7110
all three books are defective ? o s
: (a) 0:009
J I e |
g ® 0016
(c) 0026 :

@ oo



92. How much ag
‘ch angle does the: _
make with y-axis 9 tangent at p 95, What is [ fo( fof )](2) equal to ?

(@) tantp? @ 2
2 i ®) 8
A e} 16
. @ sn I[ : J
.-:rw aﬂ-‘t‘j.:au mr (d} 256
L
© M @ sec et
A 3. Whﬂ.t lﬂ ﬂlﬂ qunﬂ of " %
'L tangent fo the
A s 4 ) tnEEen
0 e (@) y=mx+m (a 2
Y o) y=
sl T i ) 2t @x-Dte
o0 (©) y=m*x+2m

1 = o .
@ ya | 0 Bt

) @ebie -




98,
m‘“" one of the following s the
equation that rnprm the

. 2 —¢
'8 40 arbitrary constant ?

160, What 1082 af x= 1 ol 102
: -

(a) 0

(b) 1

(c) 2

(d)y 4
Directions for the following three (03)
e

Read the ﬁ:ﬂumgmfﬂmmmmm
ﬁlﬂth‘ﬂ'ﬂﬂmﬂﬂlﬂtﬂ:lﬂﬂw

Consider the funmnnﬁt) =glx) H‘fx}

_ s b SR




m-ﬂxi"i 18 the period of the function 106 What is the minimum value of

a B wherea>0andb>0%
s

(.-) 10 W lex
S ' . @) (a+bF

&

(€) 40z 9. <

=

yRE {JE- ®) (a-b?

=
@ 80x ZY ) BB
/ Directions for the following two (02) items : © il
S Read the following information and answer .me“fawmmvﬁ-
the two items that follow : iy Hmb:ﬁ( ,{5 then what is
TV fix) =321 —20x% - 1252+ 2885+ 1
' : (a) 30°
53 ]thhlchmﬁofﬁeﬁaﬂnwtngm (b) 45°
i is the function increasing ? ==
"?’V @ (2,3 e

® G4
© 3,72




109 What is sin(a + ) - 2sing i s a rig
j cosg 4 112. If angle C of a triangle ABC is a right
_Sin(a — ) equal to ? nn;?:lth:n what is tand + tanB equal
7
{a) O =
I‘JE_'
(b) Zsing - @) ah
(c) Zsinp a’
fbgis
(d} Sinﬂ']'ﬁiﬂﬁ ¢
i
o B
10. If 2tand =3tanB=1, then what is o
tan(4 — B) equal 10 ? | g IS - 4R
' @ = Bidis=
; : ﬂ&
(a) % Gl A et
113. What is mt(f-} - ﬂn(-f-] equal to 7
N g o z
1
®) 6 (a) tand it




115, Wh
AL is tan25°tan] 5°
tan25e + tan15%ans, :
tans50° equal to 7 0° + 118, What is the value of Hm sinx® , =
(@) o ) 0 tan3z®
N . A : 3 1 r o
(@) 4 L i o s
Y= ’c#“"';ﬂ 3
116. What is
the area of the {£) =
by |x|<5, y=ﬂm;"§'g“hmndaa |
(dy 1

(a) 40 square units
(b) 80 s i ' I
SAguaTe uaits 119. What is thedagrmaufﬁmaﬂmﬂnﬂ
(€) 120 square units ; d’y
cquation 55—1-[-—) ﬁ]m@f« ’

@ 1

117. Consider 1]::_.3 ﬁ’uﬂwwin il
- iy B2




